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Sl. No.1
QBID:1007151

From among the four options given. choose the one which iz a grammatically correct pair of
sentences.

(1) ‘Every family have a story. welcoming to ours’. These were the word inscribe on gold
in the sleeve of a big. black photo album that Ananva is hold in her hand.

(2) ‘Every families has a story. welcome in ours’. This were the words inscribed with gold
on the sleeves of a big. black photo album that Ananyva will be holding by her hand.

(3 ‘Everv family had a stories, welcome to our’. These were a words inscribed in golden
on the sleeve of a big. black photo album that Ananya was hold 1n her hand.

(4) ‘Every family has a story. welcome to ours’. These were the words inscribed in gold on
the sleeve of a big. black photo album that Ananyva was holding in her hand.

(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : D

Sl. No.2
QBID:1007152

Which of the following 1s a one-word substitute for ‘*hard but liable to break™
(1) Brittle (2) Frail
(3) Tenuous (4) DMlortal

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : A

Sl. No.3
QBID:1007153

"Because of bad weather the mountaineers are in a quandary.”

From the following options pick the correct synonym of the word in italics.
(1) Quiet (2) Panicked

(3 Anxiety (4) Dilemma

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.4
QBID:1007154




Which tense 1s used for habitual actions?
(1) Present progressive (2)

(3) Present perfect (4)

(A) 1
(B) 2
() 3
(D) 4

Answer Given by Candidate : B

Simple present

Present perfect progressive

Sl. No.5
QBID:1007155

Match List I with List IL

ListI List IT
(Word) (antonym)
(A)  tardy (I)  warm
(B) wvalidate (II) nervous
(C) tepid (IIT) refute
(DY unruffled (IV) prompt

Choose the correct answer from the options given below :

(1) (A)-(IIT). (B)-(IV). (C)-(D). (DH-(IT)
(2) (A)-(IV). (B)-(II). (C)-(I). (D)-(I1II)
(3) (A)-(IIT), (B)-(IV). (Cy-(IL). (D)-(I)
(4) (A)-(IV). (B)-(I1I). (C)-(I). (DH-(IT)

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : C

Sl. No.6
QBID:1007156

Pick out the correctly spelt word
(1) prenunciation (2)

(3) prunniciation (4)

(A) 1
(B) 2
() 3
(D) 4

Answer Given by Candidate : D

pronanclation

pronunciation

Sl. No.7
QBID:1007157




From among the four options given. choose the most appropriate sequence for the four
phrases ziven below. to make a meaningful sentence

(A) by chance

(B) the occurrence of something pleasant
(C) that happens unexpectedly or
(D)  the word serendipity means

Choose the correct answer from the options given below :

(1) (C). (A). (B). (D)
(2) (B). (D). (A4). (C)
(3) (D). (B). (C). (A)
(4} (A). (C). (D). (B)

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : C

Sl. No.8
QBID:1007158

Identify the correct form of indirect speech of the following sentence.

The magistrate said to the lawver. “You should submit vour evidence now™.

(1) The magistrate asked the lawver to submit his evidence then.

(2) The magistrate told the lawver that he should submit his evidence then.
(3 The magistrate told the lawyer that he must submit his evidence now.

(4) The lawyer requested the magistrate to submit his evidence then.

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : B

Sl. No.9
QBID:1007159

Choose the correct option to make a meaningful sentence.

Ashok did not that his fitends would desert him when he would need them the
most.

(1) Assent (2) Accept
(3) Except (4) Expect

(A) 1
(B) 2
() 3
(D) 4

Answer Given by Candidate : D

Sl. No.10
QBID:1007160




Choose the correct passive voice of the following sentence.
People say that children are afraid of ghosts.

(1) It has been said that children are afraid of ghosts.
(2) It 1= believed that children are afraid of ghosts.

(3) It is often said ghosts are afraid of children.

(4) It 1= =said that children are afraid of ghosts.

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : D

Sl. No.11
QBID:1007161

What was the name of the constituency wherefrom Jawaharlal Nehru won Lok Shabha
election thrice?

(1) Allahabad {2) Raebareli
(3) Phulpur {(4) Barahanki

(A) 1
(B) 2
() 3
(D) 4

Answer Given by Candidate : A

Sl. No.12
QBID:1007162

The National Achievement Survey (NAS) in its 2021 survey stated that the national mean
score in English has :
(1) improved by 24 marks
(2) decreased by 56 marks
(3) has remained the same as that of the previous vear
(4) improved marginally
(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.13
QBID:1007163

Swedish film director Ruben Ostlund won Palme d'Or for his film titled :

(1) The Triangular Mountain (2) Triangle in Square

(3) Triangle of Sadness (4) Triangle of Joy

(A)
(B)
©)
(D)

A W N =




Answer Given by Candidate : Not Answered

Sl. No.14
QBID:1007164

What is done to mask an Aadhaar Number?

(1) Replace the first four and the last four digits with characters.
(2) Replace the last eight digits with characters.

(3) Replace the first eight digits with characters.

(4) Replace the six middle digits with characters.

(A) 1

(B) 2
(c) 3

(D) 4
Answer Given by Candidate : B

Sl. No.15
QBID:1007165

Which organization has won Nobel Prize three times?

(1) European Union
(2) International Red Cross Soclety
(3) United Nations
(4) National Dialogue Quartet
(A) 1
(B) 2

(©) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.16
QBID:1007166

does not want to be a film director.

Which one of the following has the opposite logic?

(4) There is no substitute for hard work.

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : D

Film Directors work hard and get exhausted. Prakash hates exhaustion and hence. Prakash

(1 People who go for walk are healthy. I do not want to go for walk and I am not healthy.

(2) Politicians are generally talkative. but I am not so. though I am a politician. not by my
choice,
(3) A Soldier’s life is full of dangers. but military is never short of manpower.

Sl. No.17
QBID:1007167




A man walks 6 km towards the North. then turns towards his left and walks for 4 km. He
again turns left and walks for 6 km. At this point he turns to his right and walks for 6 km.
How many km and in what direction is he from starting point?

(1) 10 km and West (2) 6 km and South
(3) 4 kkm and South (4) 8 km and West

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : A

Sl. No.18
QBID:1007168

A B. C.D. E. F and G are sitting in a line facing the East. C is the immediate right of D. B 1s
at an extreme end and has E as his neighbor. G 1s between E and F. D is sitting third from
the South end. Who are the persons sitting at the extreme ends?

(1) Aand E (2) AandB
(3) Fand B (4 CandD

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : C

Sl. No.19
QBID:1007169

In the question statement and assumptions are given. Consider the statement and choose the
correct option on the basis of the assumptions.

Statement : The budget of Transport Corporation is in deficit. The Corporation has decided
to increase the ticket rates for travel.

Assumptions : (1) The travel rates are very low.

(11) If the travel rates are not increased. deficit cannot be met.

(1} Only assumption (i) 1s implicit.
(2) Only assumption (i1) i1s implicit,
(3 Both assumptions (1) and (1) are implicit.
(4) Neither assumption (1) nor (11) is implicit.
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : C
Sl. No.20

QBID:1007170




Ram said to Ashok that the woman standing in front of him has a grand daughter who 1s the
only daughter of my brother. How is woman related to Ram?

(1) Aunt (2)  DMother
(3) Wife (4) Grand Mother

(A) 1
(B) 2
(Cc) 3
(D) 4

Answer Given by Candidate : B

Sl. No.21
QBID:1007171

A tube can fill a tank completely in 18 hours. After half the tank is filled. one more similar
tube 1s opened. What 1s the total time taken to fill the tank completely?

(1) 13 hrs 10 min (2y 14 hrs 30 min
(3) 14 hrs 20 min (4y 13 hrs 30 min

(A) 1
(B) 2
() 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.22
QBID:1007172

Seven girls can do a piece of work in thirteen days. six boys can do the same piece of work in
twelve davs. nine men can do the same piece of work in nine days and six women can do the
same piece of work in fourteen days. Who are the most efficient?

(1) Garls (2) Women
(3) Men (4) Boys

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : D

Sl. No.23
QBID:1007173

A man and a boy received Rs. 1.600 as wages for 5 days for the work they did together. The
man’s efficiency in the work was three times that of the boy. What are the daily wages of the
boy?

(1) Rs. 152 (2) Rs. 112
(3) Rs. 88 (4) Rs. 80

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.24
QBID:1007174




How many kg of rice at Rs. 60 per kg, must be mixed with 30 kg of rice at Rs. 25 per kg. so
that the shopkeeper may make a gain 25% on selling the mixture at Rs. 50 per kg?

(1) 22.6 kg (2) 23.5kg
(3) 24 kg 4y 245kg

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.25
QBID:1007175

A sample of X litres from a container having a 60 litre mixture of milk and water containing
milk and water in the ratio of 2 : 3 1s replaced with pure milk so that the container will have
milk and water 1s equal proportions. What is the value of X7

(1) G litre (2) 10 litre
(3) 30 litre (4) 12 litre

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.26
QBID:1014001

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A .

The king during later Vedic period performed various sacrifices and rituals.

Reason R :

All these rituals and sacrifices impressed the people by demonstrating the power and
the prestige of the king.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A is correct but R is not correct
(4) A is not correct but R is correct

(A) 1

(B) 2

() 3

(D) 4




A & FUA § : wF HWEYT AF w0 A OfEa ¥ qEu 3w
FROT RF ¥9 H |

HIHFGA A

Scr-dfew Fie & R T [Bffies arffis @R AR 3eTsal F3ar o7 |
FRUTR :

o |l IeTeerT AR UTfAE FERR ST B rfFa 3R ufaser & gedi
AT el @ wefad N ¥ |

SRIFT FUG & el A, A RBr 71w fFawedt # & qa8 39977 3ok 7
T FifSw

(1) AR R @ € 3T R AS wh amE

2) A 3R R TE § AR R A Fr T e a8 R

(3) A TEr § ofhaT R \EY 718 & 1

@ A TET G ¢ e RAE & |

(A) 1
(8) 2
(c) 3

(D) 4
Answer Given by Candidate : A

Sl. No.27
QBID:1014002

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion 4 :

The dominant mode of worshipping the gods during early Vedic period was through
the recitation of prayers.

Reason R :

The Aryans worshipped gods during early Vedic period for their spiritual upliftment.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A
(3) A is true but R is false
(4) A is false but R is true

(A) 1

(B) 2

() 3

(D) 4




A & 7 £ F AffFET AF w0 A Of@a ¢ o quu 3 F
FROTRF & H |

HIAFYT A :

A-AfF Fa F R, seraEt H o0 F B e [ g g o |
FROTR :

E-afeF F1a F A=, 3 IO sAToRE 3cUe & fow seEmt i ger
AT |

IRIFT FUA & e A, A BU a0 Fhedd # § G 39FF IR
T HIST

(1 AR RS w8 € 3R R A w9 e

(2) AT REET 5 € o R, A Fr wdy sgrear A &
(3) ATE 2 afsT RTES 8T &

(4) AUEY T8l & ofFT REE &

(A) 1

(B) 2
c) 3

(D) 4
Answer Given by Candidate : B

Sl. No.28
QBID:1014003

Which of the following Tamil works highlight the importance of Jaina philosophy 7

(1) Tirukkural

(2) Silappadikaram
(3) Sivaga Chintamani
(4) Manimekalai

(A) 1

(B) 2

(©) 3

(D) 4

frafaf@a # & wla-d@ affe sfa 9 @ F Agca # wewRlia s g 2
(0 farearter

Y

(2) Rraonfesra
(3) foarem Riaafor
4 AfAwS
(A) 1

(B) 2
(C) 3

(D) 4
Answer Given by Candidate : B

Sl. No.29
QBID:1014004




The earliest known dockyard has been discovered at

(1) Kalibangan
(2) Lothal
(3) Rangpur
(4) Surkotada
(A) 1

(B) 2

(c) 3

(D) 4

qad AT A Siaang Fwl 8§ Her § 2

(h Frelraan

(2) wrRrer

(3) TR

) Ihrear
(A)
(8)
(©)

(D) 4
Answer Given by Candidate : B

W N =

Sl. No.30
QBID:1014005

The term *Yavanika® meant

(1) Foreign goods
(2) Dancer
(3) Curtain
(4) Theatre
(A) 1
(B) 2
(c) 3
(D) 4
‘Fafasr oeg & FAT drcdd g ?
(1 faeeh awq
@
(3) el
(4) e
(A) 1
(B) 2
c) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.31

QBID:1014006




Kantakshodhanas of the Mauryan period were

(1) Royal treasuries
(2) Civil courts
(3) Criminal courts
(4) Police stations
(A) 1
(B) 2
(c) 3
(D) 4

AT T F SFewtsT F=ar & 9
(1 AMET WAt
(2) & ered
(3) Sl e
(4) g‘fc’-’m e
(A) 1
(B) 2
) 3

(D) 4
Answer Given by Candidate : A

Sl. No.32
QBID:1014007

During whose time did Hiuen Tsang visit Kanchipuram, the capital of the Pallavas ?

(1) Narsimhavarman-1
(2) Marsimhavarman-I1
(3) Mahendravarman-1
(4) Mahendravarman-II

(A) 1

(B) 2

(c) 3

(D) 4

ﬁmm%amﬁﬁﬂmﬁwmrﬁwﬂﬁhmw
Zhr e ar 0

(1 A fHgada-1
(2) T Agaa-1I
(3) HAeegadel-1
(4) Aergadia-11
(A) 1
(B) 2
(C) 3
(D) 4

Answer Given by Candidate : B

Sl. No.33
QBID:1014008




Mandasor pillar inscription of the early 6™ century AD belongs to

(1) Anantavarman
(2) Mehirkula
(3) Toramana
4) Yasodharman
(A) 1
(B) 2
(c) 3
(D) 4
63T ATedr $HT g8 A AcHN ¥ e fFed w&fta € 0
(1 HeleaaAr
(2) ICIEE T
=
) aR&ATT
(4) FAETHAA
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : A
Sl. No.34

QBID:1014009

Which Gupta ruler has the maximum number of inscriptions belonging to his period 7

(1) Chandragupta-I1
(2) Samudragupta
(3) Skandagupta

4) Kumaragupta-I

(A) 1

(B) 2

(€c) 3

(D) 4

fFE 0T U= ¥ arEaEe H HORaH TEd # AReE wrg g1 € 2
(1) Tgaea-1I
5y

(2) HHeAA
(3) THeaed

-

4 =
(4) FATA-1

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : A

Sl. No.35
QBID:1014010




During whose reign did St. Thomas come to India 7

(1)
(2)
(3)
(4)
(A)
(B)
(©)
(D)

A W N =

Menander
Moga
Gondophernes
Vasudeva

fras arEeTHa § de SiAE AT 3T 7

(1)
(2)
(3)
(4)
(A) 1
(B) 2
(©) 3
(D) 4

Answer Given by Candidate : C

Sl. No.36

QBID:1014011

Which statement about Ajatashatru is nef true 7

(1)
(2)
(3)
(4)

(A)
(B)
(©)
(D)

A W N =

He is also known as Kunika.

He annexed the kingdom of Lichchhavis.

He was the last ruler of the Haryanka dynasty.

The first Buddhist Council was held during his reign.

HATHNT F HaYU H FIF-07 I2T G AT ¢ 2

(1)

(A) 1
(B) 2
) 3
(D) 4

T wfedsdr F a7 T off I AT T |

S=gid for=odl OTH=T & TR &Far |

¥ g v ¥ HAF oawE T |

S MEAFIT H JUH alg giwe 1 3masa fFar mar |

Answer Given by Candidate : B

Sl. No.37

QBID:1014012




Anga mahajanapada was annexed to Magadha by which of the following rulers ?

(1) Bimbisara
(2) Bindusara
3) Ajatashatru
(4) Mahapadma Nanda
(A) 1
(B) 2
(c) 3
(D) 4

HIT #3597 Hgolede & FeaefEa & @ & aws  Ferr ar 2
(N ICICEICS
(2) ﬁg&w

(3) HATAMT
(4) HETIST dAeal
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : A
Sl. No.38

QBID:1014013

Which Rashtrakuta ruler got the Kailasanatha Temple built ?

(1) Krishna-I
(2) Krishna-I1
(3) Dantidurga
(4) Indra-I1
(A) 1
(B) 2
(c) 3
(D) 4
e Tsege T A Someer #Afey AT FwEr ar 0
(1) F0T-1
(2) FOT-11
(&) afeags
4) gg-1
(A) 1
(B) 2
(€c) 3
(D) 4
Answer Given by Candidate : A
Sl. No.39

QBID:1014014




Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A :
Zamindari settlement was also known as the Permanent Settlement.

Reason R :

In this settlement the rent to be paid by the peasants to the zamindars was fixed
permanently.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1)
(2)
(3)
()
(R)
(B)
(©)
(D)

A W N =

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R is not the correct explanation of A
A is correct but R is not correct

A is not correct but R is correct

A BT U E - UF HFFUA AF ¥ & AET & I g7 36
FROUT RF FT H |

FHIFFYT A :

SHENT deilaed H TART ST HT Fgr A o7 |

FRUTR :

SH dEaEd # FUF! GEAN FTHGRT FT A FU I aer Fw w7
Rt v ¥ Fuifia fear amer ar

IWFS FUF F HaF F A QU v TFedt F @ g9 39gF9 30a H
Tu FifaT

(A) 1
(B) 2
©) 3
(D) 4

AR R TEr & AT R AFH T R §

A 3T RET HEr & oifFeT R A T HEY <arET 76T &
ATE ¥ oIfd REE G &

ATEr g § kT REET §

Answer Given by Candidate : A

Sl. No.40

QBID:1014015




Match List T with List IT :

List1I ListII
A. Santhal Resistance I. 1831-32
B. Bengal Indigo Resistance I. 1875-76
C. Deccan Uprising I, 1859 —60
D. Kol Uprising IV. 1855-56

Choose the correct answer from the options given below :

(1) A-L B-II. C-II1. D-IV
(2) A-IL B-1. C-IV, D-III
(3) A-TIL B-IV. C-II. D-I
(4) A-TV. B-III. C-II. D-I
(A) 1
(B) 2
(c) 3
(D) 4

T 19wy g 1 # e fifew

=T I =T I

A TYT JTaaeT I 1831-32
B. S9TeT #itel Fiaarer IL. 1875-76
C. T Fiare IIL 1859 — 60
D. el gfaaer IV.1855 — 56
(A) 1
(B) 2
() 3
(D) 4

Answer Given by Candidate : D

Sl. No.41
QBID:1014016

Arrange the following events in chronological order from earlier to later :

Gandhi — Jinnah talks on the ‘Rajaji formula’
Simla Conference

Arrival of the Cabinet Mission

Direct Action Day

Lahore Resolution for Pakistan

monwpe

Choose the correct answer from the options given below :

(1) E, A B.C,D
(2) E,D,A.B,C
(3) C,B,A,D,E
4) B.C,D.A.E
(A) 1
(B) 2
(c) 3
(D) 4




ﬁmﬁr‘@ﬂucﬂuﬁaﬁwmﬂmmmwﬂqﬁﬁaﬁﬂ?wﬁmﬁaﬂ
ffaT

mo AW >

&

TSl g3 o el - e ardt

e gasttar
Fiaae A= 51 3mHET
IFC THA 3

eglt s & sifeeas seae

I Br v BFeal & @ @8 3w #7179 fifFw

(1)
(2)
(3)
(4)
(A) 1
(B) 2
©) 3
(D) 4

E.A B.C,D
E.D A BC
C,B,A,D.E
B,C,D AE

Answer Given by Candidate : Not Answered

Sl. No.42
QBID:1014017

Arrange the following events in the chronological order from earlier to later :

MO0

Home Rule Movement
Montague — Chelmsford Reforms
Rowlatt Act

Lucknow Pact

Jallianwala Bagh Massacre

Choose the correct answer from the options given below :

(1)
2)
(3)
@)

(A)

(B)

(©)

(D)

A W N =

A,D,B,C,E
A,D,C,B,E
D,A,B,C.E
E,A,B,D,C

freafaf@a gearst Ft Fogsas &7 F 9o § 91g F HF & cgaredd

Fifaw :

A BIH §F e

B.  ATY - IFEHIS GUR
& Joie Tae

D. d@aF i

E. SferaiaraTr 9T gcahis
(A) 1

(B) 2




(©) 3

(D) 4
Answer Given by Candidate : A

Sl. No.43
QBID:1014018

Arrange the following events in chronological order from earlier to later :

Al Kanpur conspiracy case
B. Kakori conspiracy case
. Foundation of the HSRA
D. Armed raid on the armoury at Chittagong
E. Foundation of the Swaraj Party
Choose the correct answer from the options given below :
(1) A,B,C,D,E
(2) E.D,C,B,A
(3) E A C,B,D
(4) E,A,B,C,D
(A) 1
(B) 2
(©) 3
(D) 4

ATl geasit I FelhiFs 9ge & dlc & HH # cgafeyd HIfeT
FAR TSTT HFeA

FIHNT G3TT FFSAT

TA.UH.AR.T &7 97

et # gaET gHan

. Taus 9rdt fr wrger

A T a1v fawedt # & @8 3o # TIA HfFT -

mo NP P

(1 A,B,C,D,E
(2) E,D,C,B,A
(3) E,A,C,B,D
(4) E A,B,C,D
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.44
QBID:1014019

Match List I with List IT :

List 1 List II
A. Wood’s Despatch on Education 1. 1854
B. Hunter Education Commission II. 1882 - 83
C. Saddler University Commission 1L 1917 - 19
D. Sergeant Plan of Education V. 1944
Choose the correct answer from the options given below :
(1) A-l, B-I1, C-111, D-IV
(2) A-1L B-1, C-1V, D-1IT
(3) A-11, B-1, C-111, D-IV
4) A-IV, B-111, C-11, D-1

(A) 1




(B) 2
(c) 3
(D) 4

aﬁ;%maﬁilwmmﬁﬁv:

T | T

A RIET W g3 1 awomas I 1854
B.geX e smanr 1. 1882 -83
C. ¥ser Taeafaezmera amaer 1L 1917 - 19
D.@rste fRrem atsar IV. 1944
a7 few 7iv fAwedl # ¥ W8 3c} FT gga Aifav
(1 A-L, B-IL, C-III, D-IV
(2) A-IL B-L, C-1V, D-III
(3) A-IL, B-L, C-1II, D-IV
(4) A-IV, B-II1, C-I1, D-1

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : Not Answered

Sl. No.45
QBID:1014020

Match List T with List IT :

ListI List IT
A.Nana Sahib I.  Lucknow
B. Hazrat Mahal II. Rohilkhand
C. Kunwar Singh III. Kanpur
D. Khan Bahadur Khan IV. Bihar
Choose the correct answer from the options given below :
(1) A-I B-IIIL, C-II, D-IV
(2} A-IV, B-II. C-1. D-III
(3) A-IL B-III. C-1. D-IV
(4) A-TII. B-I. C-IV. D-II

(A) 1
(B) 2
(c) 3
(D) 4




= 1% wry g 1w e fifew

T 1 o

A FT F@IfET L @S
goRd Fgd o UfgeEs
v faE . A

. W J@IgT @ Iv. faEr
A feT av T=eat § ¥ TWEr 3caY F T84 FHIfST

(1) A-I. B-III. C-II, D-IV
(2) A-TV, B-II. C-1. D-III
(3) A-IT. B-III. C-1, D-IV
(4) A-IIT. B-1. C-IV, D-II
(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : D

Sl. No.46

QBID:1014021

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A :

The moderates adopted liberal methods such as petitions and prayers.
Reason R :

The moderates had complete faith in the British sense of justice.

In the light of the above statements, choose the most appropriate answer from the
options given below

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A is correct but R is not correct
(4) A is not correct but R is correct

(A) 1

(B) 2

© 3

(D) 4




A & FUA § : 0F FWFUA AF w0 & AT ¢ O gEw 389
HAUT RF &9 # |

HIHFIA A

ARAYTET A @i 3wt S seR ggfadt @ smerr |
FROT R :

At v ffey mmaftear ) 9ot v ot |

W FUA & ek A, A U 710 Fewedl # & @8 39gFd Ieak H
T FIfAT

(N A 3R RET TEr § 3R R, A wfy carEar &

(2) AR R w5E § afha R A &1 @ carear a8 §
3) AT & AfheT RES T &

@ ATE A% g AfFT REST ®

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : C

Sl. No.47
QBID:1014022

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion 4 :

The colonial economic policies led to poverty and unemployment in India.
Reason R :

It encouraged drain of wealth and deindustrialization in India.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A is correct but R is not correct
(4) A is not correct but R is correct

(A) 1

(B) 2

(c) 3

(D) 4




AT FuA € @ UF AFFUF AF w7 F *f@T 7 9 g 35
FNUT RF §T H |

HIHFHYT A4 :

sufaafTr anfis Hifgat 3 awg F 7i:h stk sy $r 3w awar |
FNUTR :

TS 9T # 97 & faswma 3 Rieasieor s semfea B |
IWFT FAST F HF H A= U 70 Bt 7 ¥ 799 39+ 3o} F;
T FifFT

(1) AT R TEr & 3T R.AFr wd arET

(2) A T REAT WEr & AT R A FT HET aTEar A8t £
3) A TRl § A REST AR E

) AWEl 78 & ofhT REET &

(A) 1
(B) 2
() 3
(D) 4

Answer Given by Candidate : A

Sl. No.48
QBID:1014023

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion 4 :

The British residents in India protested against the Ilbert Bill.

Reason R :

The bill proposed to establish social equality in the administration of justice.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A 1s correct but R 1s not correct
(4) A is not correct but R is correct

(A) 1

(B) 2

(c) 3

(D) 4




A QT FUA £ UF HEYT AF w9 A @ § a qEw 3wE
SHUT Rsh 9 # |

HIFFUT A :

g # fafer Fafaat o sead Rdas # 1 @y B

FROTR :

57 fatas # Fag-werEs # genfes @ eEar ®Bnfad e $T 95| 4T |
SRIFT HUA & el A, A ow 710 Feavedt # & T8 39gFT Sl T
T ST

(1) AR R wEY § 3R R A wh e #

2) A 3R R T & AT R A S @) arE A §

3) AR & et RES AT &

4 A HEl 61 ¢ ofdhet REQ &

(A) 1

(B) 2
(c) 3

(D) 4
Answer Given by Candidate : A

Sl. No.49
QBID:1014024

Who was the first Governor-General of Bengal ?

(1) Robert Clive
(2) Cornwallis
(3) Warren Hastings
(4) John Shore
(A) 1
(B) 2
(c) 3
(D) 4
A & TUHA G- Hied & 7
(1 Jae FaAST
(2) EICCIGE:]
(3) an= gfeesw
4) ST A
(A) 1
(B) 2
c) 3
(D) 4
Answer Given by Candidate : C
Sl. No.50

QBID:1014025

Pearl Harbour, an American Naval and Airforce base was attacked by

(1) Japan
(2) Germany
(3) ltaly

4) France




(A) 1
(B) 2
) 3
(D) 4

ARG AAAT IR IGEAT S, Tl §T, T Haa gaen fhar ar 2
(1 EiEiC)

(2) SHAT

(3) gcalr

) 5]

(A) 1

(B) 2
(c) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.51
QBID:1014026

Who laid the foundation of the *Asiatic Society of Bengal™ in 1784 7

(1) Lord Hastings
(2) Halhed
(3) Charles Wilkins
(4) Sir William Jones

(A) 1

(B) 2

(©) 3

(D) 4
av 1784 & ‘virfes @asd e dwmer f w=nuear Faa oot 2
(1) EIERJLEL:]
2) geles

(3) ared faeferea
(4) ot foas Sew

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : D

Sl. No.52
QBID:1014027

Who translated the Gita and Hitopadesha into English 7

(1) Charles Wilkins
(2) William Jones
(3) Halhed
(4) Warren Hastings
(A) 1
(B) 2
() 3
(D) 4




(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : B

Sl. No.53
QBID:1014028

Who sent an expedition of Indian troops to Egypt to fight against Napolean ?

(1) Wellesley
(2) Curzon
(3) Hastings
(4) Bentinck
(A) 1
(B) 2
c) 3
(D) 4
Ao & @eg a5 & v sRdT 3o & F9 Fas #er a1 2
(1) delgelr
(2) Fatel
) tfecsw
4) dfFes
(A) 1
(B) 2
c) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.54

QBID:1014029

Who was the first Indian to be elected to leadership of The Communist International?

(1) 5.A. Dange
(2) Muzatfar Ahmad
(3) M.N. Roy
(4) Jawaharlal Nehru
(A) 1
(B) 2
() 3
(D) 4




FHIATE ST F Aqed & AU IH A I IgT AT BiF & 2
(1) TH.T. I

(2) HAFHY HgAS

(3) TH.UA. T

(4) SATETAT Ag®

A) 1

(B) 2
(c) 3

(D) 4
Answer Given by Candidate : C

Sl. No.55
QBID:1014030

Who achieved martyrdom after a long epic fast in Jail ?

(1) Jatin Das

(2) Jatin Mukherjee

(3) Abdul Rahim

(4) Raja Mahendra Pratap

(A) 1

(B) 2

(c) 3

(D) 4

Sl # od I & 9eEid R afolare & 931 7
(1 Sfae g

(2) EIGG] ﬁ'@sﬁ

® Fregel W6

(4) ST HAgeg Idd
(A) 1
(B) 2
(C) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.56
QBID:1014031

Which session of the Congress passed resolution on Fundamental Rights and
Economic Policy 7

(1) Lahore session
(2) Karachi session
(3) Lucknow session
(4) Tripuri session

(A) 1

(B) 2

(©) 3

(D) 4




FAOE F FE A= 7 #Aifes 30er 3 s A w gwae afa
forar amar ar 2

(1) el aftdeeT

(2) EREIRRIBEECE

(3) qEaF A

@ fgh s

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : B

Sl. No.57
QBID:1014032

A National Planning Committee was set up under the Chairmanship of

(1) Jawaharlal Nehru
(2) Subhas Chandra Bose
(3) Jai Prakash Narayan
4) Narendra Dev

(A) 1

(B) 2

(c) 3

(D) 4

T Irsen afafa fr wagar fradr sregerar & i a5 o 2
() FaELdTd AEE
(2) gAY Ty a9
(3) I IR AT
(4) =g &F
(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.58
QBID:1014033

In which year was FICCI setup ?

(1) 1927
2) 1929
(3) 1944
(4) 1950

(A) 1

(B) 2

(c) 3

(D) 4




TE. S H IS, fr wrger e aw #7 §é o 7

(1) 1927
(2) 1929
(3) 1944
(4) 1950
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.59

QBID:1014034

All-India Kisan Sabha was formed under the Presidentship of

(1) P.C. Joshi
(2) Sahajanand Saraswati
(3) Acharya Narendra Dev
(4) Jai Prakash Narayan
(A) 1
(B) 2
() 3
(D) 4

Hﬁﬂmmwﬁﬁmmmﬂmﬁﬁﬁh?
(1) oy Hr. S

2) Heolleleg, TLEIAT

(3) I A &F

(4) FIT R AT

(A) 1

(B) 2
(c) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.60
QBID:1014035

The All-India State's Peoples” Conference was founded in

(1) 1927
(2) 1928
(3) 1939
(4) 1943

(A) 1

(B) 2

c) 3

(D) 4




siter $f3am veew doew Fhhw H TuTer fRg av gg o 0

(1) 1927
(2) 1928
(3) 1939
(4) 1943
(A) 1
(B) 2
() 3
(D) 4
Answer Given by Candidate : Not Answered
Sl. No.61

QBID:1014036

Self-Respect Movement emerged in South India under the leadership of

(1) E.V. Ramaswamy Naicker
(2) Keshavrao Jedhe
(3) Jyotirao Phule
4) B.R. Ambedkar
(A) 1
(B) 2
(c) 3
(D) 4

ET&I0T HRA # 3McH-FFA 3MieTelel T Scdicd s Agea # g5 & 2
(1) & gETETEY A

(2) HAAF AT

(3) SIfeRE Bl

(4) L. 3HFasa

1

(B) 2
c) 3

(D) 4
Answer Given by Candidate : A

Sl. No.62
QBID:1014037

The Boston Tea Party was associated with the

(1) American War of Independence
(2) French Revolution

(3) American — Spanish War

(4) American Civil War

(A) 1

(B) 2

(c) 3

(D) 4



HP
Highlight


A & aiét e gear @ waEfaa & 0
(D ARG TacAar gg

2 e shifer

3) AT - T I

@ AR 7E g8

(A) 1

(B) 2

©) 3

(D) 4
Answer Given by Candidate : A

Sl. No.63
QBID:1014038

Arya Samaj was established in which of the following year?

(1) 1875
(2) 1883
(3) 1885
(4) 1890
(A) 1
(B) 2
(©) 3
(D) 4
I AT Fr Tugar AeefEa d @ Fa ad fr o oy o
(1) 1875
(2) 1883
(3) 1885
(4) 1890
(A) 1
(B) 2
(© 3
(D) 4

Answer Given by Candidate : A

Sl. No.64
QBID:1014039

Match List I with List IT :

List 1 ListII
A Magadha I.  Shravasti
B. Kosal 1. Girivraja
C. Avanti III. Kaushambi
D. Vatsa IV. Mahishmati

Choose the correct answer from the options given below :

(1) AL, B-1V, C-1, D-II

(2) A-IV, B-IIL, C-11, D-1

(3) A-IL, B-1, C-IV, D-III

(4) A-1, B-IL, C-11, D-IV
(A) 1

(B) 2




(©) 3
(D) 4

T 16 A = 1w Ao Hifse

el
A, FTET
B. s
C.3Efa
D.gcH

I
I Haedr
. fafes
I11. iaiET
V. ATfesAfa

#rr o v BFeat & ¥ ¥ 3oX 7 T3 fifFw

A-II, B-1V, C-1, D-11
A-IV, B-I1, C-11, D-1
A-IL, B-1, C-IV, D-111
A-l, B-11, C-II, D-1V

(D
(2)
(3)
4)
(A 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : C

Sl. No.65

QBID:1014040

Arrange the following in a chronological order :

mon®Ee

Haryanka dynasty
Shishunaga dynasty
Shunga dynasty
Maurya dynasty
Nanda dynasty

Choose the correct answer from the options given below :

(1
(2)
(3)
(4

(A)
(B)
(©)
(D)

A W N =

B.A.E.C,D
A,B,E,D,C
B,A,D,C,E
D,A,B,C,E




fEr=fafld #t Freliefha # sFaeyd HIHT :

A glw g

B.  TRIEmm
i "\TT aer

D. HF awr

E. dAc au

#r for av BFeal § § 78 3w 71 9 ffFw

(0 B,A.E.C,D
(2) A,B.E,D,C
(3) B,A.D,C,E
(4) D ABCE
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B
Sl. No.66
QBID:1014041

Arrange the following in a chronological order :

A. Bindusara

B. Dasaratha

. Mahapadma Nanda
D. Bimbisara

E. Brihadratha

Choose the correct answer from the options given below :

(N E,D,C,B,A
2) D,C,A,B,E
(3) A B,C,D,E
4) C,D,A,B,E
(A) 1
(B) 2
(c) 3
(D) 4




fArfafaa =1 Fresa # sgaftaa Ao .

A FgER

B gy

C Helq9s =og
D ICIGE:IES

E JeRy

L4

o R aiv {Fedt # ¥ 898 3o #1994 fifav .

() E.D C B A
(2) D C A BE
(3 ABCDE
4) C,D A BE
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B
Sl. No.67

QBID:1014042
Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.
Assertion A -
The prostitute was protected and supervised by the Mauryan State.
Reason R :
Spies did much of their work with the help of the prostitutes.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A is correct but R is not correct
(4) A is not correct but R is correct

(A) 1

(B) 2

(c) 3

(D) 4




A & U7 § : oF FFTA AF w9 A A ¢ o gEv 36
FROT RF T H |

HIHFYA A :

A e g@RT AT wr HEIOT e Srar ar HR 3R et
ST o |

FRUTR

SARGH 9T HFR FE, 23T F wEEaT S & |

IWIFT FAUA & el A, A BT 70 fGhedl # § Fa@ 39FFd 3ok H
I HIAT :

(1) AR rREE wEr § 3R R A S T e §

2) AR R T8 & afFT R A S O e A8 B
(3) ATE & afpT RUS A&7 &

(4) AT 7T E o REST &

(A) 1

(B) 2
(C) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.68
QBID:1014043

Which monk from Nalanda went forth to convert Tibet to Buddhism 7

(1) Padmasambhava
(2) Ashvaghosha
(3) Buddhamitra
(4) Nagasena

(A) 1

(B) 2

(c) 3

(D) 4

AteieT ¥ forg dlg gy & Geag #r gl a7 & ofafda == #1590 FFr 2
(1) TIENT
(2) HoTHY
(3) FutaT

=

(4) AR

(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.69
QBID:1014044




The caravan leader in ancient period was known as

(1) Sarthavaha
(2) Shreshthin
(3) Jyesthaka
4) Pramukh
(A) 1

(B) 2

c) 3

(D) 4

ﬂrﬁmmﬁmuﬂmaﬂmmmm?

(2 ATTsT
(3) Rt
W e

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : B

Sl. No.70
QBID:1014045

Who among the following was the first to become a Buddhist nun ?

(1) Yasodhara
(2) Gautarmu
(3) Sujata
4) Mahamaya
(A) 1

(B) 2

(c) 3

(D) 4

fFfafea # @ #ia gawys dig el o= 4 2
(h TRART

) aitersr
(3) HeArar
(4) HETHET
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B
Sl. No.71

QBID:1014046




Who was the founder of the Pasupata Cult ?

(1 Vasugupta
{2) Kallata
(3) Basava
(4) Lakulisa
(A) 1

(B) 2

(c) 3

(D) 4

ﬂlﬁﬁﬂﬂ?mﬂ?ﬁﬂiﬁ?}?

(1) I
(2) Fodc
(3) 99
4) a@ﬁm
(A) 1

(B) 2

©) 3

(D) 4

Answer Given by Candidate : D

Sl. No.72
QBID:1014047

Which of the following statements are correct 7

Chandragupta-1 started the Gupta era.
Samudragupta was succeeded by Chandragupta-II.
Harisena was the court poet of Samudragupta.
Samudragupta defeated the rulers in Southern India.
Samudragupta assumed the title of Vikramaditya.

monwe

Choose the correct answer from the options given below :

(1) Only A,C, D
(2) Only A,C,E
(3) Only B, C,E
4) Only B,C.,D

(A) 1

(B) 2

(c) 3

(D) 4

TeRET g AT FAT AT E

A SEIeA-IH AT Hag F I R ar

B.  WHEID ¥ Scalll¥sRI FEed-I ¥ |

C. ERUF "Hgad F U FiT A |

D. WHASA o STEUT ARG F ATHH I FIEAT AT |
E. HHIT F SHANeed i 3y & 18 o |

(A) 1
(B) 2




(c) 3
(D) 4
Answer Given by Candidate : A

Sl. No.73
QBID:1014048

Match List I with List IT :

List1 List I
A. Manda I. Haryana
B. Sanghol II. Jammu
C. Mittal III. Punjab
D. Hulas I'V. Uttar Pradesh

Choose the correct answer from the options given below :

(1) A-IL, B-IIL, C-1, D-IV
(2) AL B-II, C-1V, D-I
(3) A-1, B-IL, C-I1, D-IV
(4) A-1V, B-IL, C-11, D-I

(A) 1

(B) 2

(c) 3

(D) 4

g 1F |y gl A fifee

g 1 g 1

A Hiar . ghamon
B. @A I S
C. fAcaer R EIE]
D.gerd IV. 3 S9cem
A fer arv RFedl #§ & "8 e} &1 g9 fifFw
(1 A-II, B-1I1, C-1, D-TV
2) A-II, B-I1, C-1V, D-1
(3) A-1. B-1, C-II1, D-TV
(4) A-1V, B-11L, C-I1, D-1

(A) 1

(B) 2

(C) 3

(D) 4

Answer Given by Candidate : A

Sl. No.74
QBID:1014049




Match List I with List II :

List I List 11
A, Ahar L Madhya Pradesh
B. Eran Il.  Rajasthan
C. Jorwe III.  Bengal
D. Mahishdal IV. Maharashtra

Choose the correct answer from the options given below :

(1) A-111, B-IV, C-1, D-II
(2) A-IV, B-IIL, C-11, D-1
(3) AL B-1, C-1V, D-1II
(4) A-1, B-IL, C-11, D-IV

(A) 1

(B) 2

(c) 3

(D) 4

@[%W@l]ﬁﬁmﬁﬁ@:

qdr 1 T 1
A, IR I HET 9w
B. = IL. TSI
c. SRa 111 S9TTer
D. HAfguE V. AENTSE

7 fer av AFedt # & 98 3cax 1 99 fifew

(1) A-IIT, B-1V, C-1, D-I1
(2) A-1V, B-IIL, C-IL, D-1
(3) A-Il, B-1, C-IV, D-III
(4) A-l, B-11, C-II1, D-1V

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : C

Sl. No.75

QBID:1014050

Given below are two statements :

Statement I :

The Harappan civilisation had a trade link with the outsiders.

Statement II :

Many Harappan seals have been found in Mesopotamia.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement 11 are false
(3) Statement I is true but Statement 11 is false
(4) Statement [ is false but Statement I is true
(A) 1
(B) 2

(©) 3




(D) 4

TS Fua Ru aw § ¢

FYA I :

EIOUT WIAAT & aTg] ardll & A A9 T9Y & |
FYA I -
I gsoar At AN # @ aS §
3T FUA F Helw A, A Qe v et # & da 39gFd ok #
T8 fifSw
(1) AT FuT 13 nET &
(2) 2t Fae 13T n3Ea §
(3) FYA | Hcd § W FUA 11370T ¢
) FYA | T ¢ W 94 1 FA ¢

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : A

Sl. No.76

QBID:1014051

Given below are two statements :

Statement I :

The Mauryans held an elaborate administrative structure.

Statement I ;

The Mauryans paid their officials through grant of land.
In the light of the above statements, choose the most appropriate answer from the
options given below :

(1)
(2)
3)
(4)

(A)
(B)
©)
(D)

A W N =

Both Statement [ and Statement II are true
Both Statement I and Statement II are false
Statement I is true but Statement 11 is false
Statement [ is false but Statement 11 is true




T Fga R aw §

FUTI:

A araa 7 sags gAEiEaE G FegAe O |

FUA 11 :

AR e, s st # R e & w9 7 e wa A
IAFT FYT & Al H, A BU v Bereul # ¥ §a@ Iugad o] F
S ”

(h ot wee 13 nac §

(2) 2t w131 1 3ac §

(3) YA 1 HA & Re] HUA 11 30T &

(4) FUA 1 3EA § Wed HYA 1 TF &

(A) 1
(B) 2
) 3
(D) 4

Answer Given by Candidate : A

Sl. No.77
QBID:1014052

Given below are two statements : one 1s labelled as Assertion A and the other is
labelled as Reason R.

Assertion A :

In the year 1679 after the death of Maharaja Jaswant Singh, there was Rathore
Rebellion.

Reason R :
The issue was to handle the question of the succession to the throne.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A is correct but R is not correct
(4) A is not correct but R is correct

(A) 1

(B) 2

(c) 3

(D) 4




A ar FUA § 0 U HEEUa A% v F OfgT § O @ suw
FHOUT RF FT H |

HIEFYT A :
a&mwﬁmmﬁﬁ?aﬁ’rﬂﬁmmuﬁsﬁaﬁggmml
FRUTR :

=g fAgig &7 FROT @ W 3cqANFR F 92 § Farag o |

INFT FUA F Aol #. A= w10 FFedt # @ 599 399F 3cat #
ERCIETI U

(1) AT R T & AR R AS T amET §

(2) A AT REEAT TEr § AR R A T TET suTETm A4 #
(3) ATE & afFT REST AET &

) AHEr 78T § ofT REET &

(A) 1
(B) 2
() 3
(D) 4
Answer Given by Candidate : Not Answered

Sl. No.78
QBID:1014053

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.
Assertion 4 :

In the First Battle of Panipat in 1526. Babur with the help of 12000 soldiers defeated
Tbrahim Lodi who commanded an army of approximately 1.25.000.

Reason R :

Babur displayed exceptional military strategy with the use of gunpowder and fire
arms.

In the light of the above statements. choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A 1s correct but R 1s not correct
(4) A is not correct but R 1s correct

(A) 1

(B) 2

(c) 3

(D) 4




A 3 FuA € ¢ UF AEFUT AF w7 F *fFT ¥ 9 g5 5w
FHOT R+ T H |

SHIRAFYA A :

a¥ 1526 F IS & FAF qE H.q@X F 12000 HfFE F FEmEr @
I 1.25.000 T BISF AT FATMH AT FT FAT AT |

FNUTR :

T F a%G AT ARAATE F TANT F IcFee deT WS FT T8
forar ar |

IRFT FA F Fells H A2 w710 fFFedt # & 79® 3995 3ea< &
=7 FfT

(1) AT REAT HEr & 3T R A Fr ey e §

@) AT REET T8 § AfFaT R A Fr wEY curEm AT §
(3) AWl § AT REET A6l &

4) ATE 7 & AT RTE 7

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : A

Sl. No.79
QBID:1014054

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.

Assertion A :

According to modern historians like Doughlaus Stressnaud and Michael Hodson, the
Islamic Empire is associated with gunpowder hypothesis, the use of which led to
larger extent of empire.

Reason R :

Babur and his grandson used gunpowder and musketeers to win several battles to
establish the Mughal Empire in India.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A
(3) A is correct but R is not correct
(4) A is not correct but R is correct

(A) 1

(B) 2

(c) 3

(D) 4
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A ar FUA € U HiEEAS AF w0 H OfET § Oy v 3w
FRUT RF §F H |

HIBFYT A :

FgfaF sTOEEsRt S oW Baas H AFA gisaa F e
SFlTA® ATHF, a6 HT FTURT § 3 . 5w+ 94T & 305 wHT
+1 FER g3 |

FNUTR :

g AR 3§F 91 F ARG H JIT HHSE H TG F forw @35 gat
FI Sl F T areg AR dEFaiat F1 AT G |

3T FUA F A@F A A QU v BEwedt # & §a¥@ 39gFd Ieal #
T FifFT

(1) AT RGN TEr & 3T R A FT T swEw F

(2) AR R TEr & AT R A T cEw A ¢
(3) ATE g o REET AT &

4) ATEr A8 & R REET E

(A) 1
(B) 2
() 3
(D) 4

Answer Given by Candidate : A

Sl. No.80
QBID:1014055

Match List I with List IT :

List] ListIT
(Travellers/Merchants) (Kings)
A. William Finch It Shah Jahan
B. Ibn Battuta II.  Muhammad bin Tughlaq
C. Ralph Fitch III.  Jahangir
D. Francois Bernier IV. Akbar
Choose the correct answer from the options given below :
(1) A-IIL B-IL C-IV, D-I
(2) A-L B-II. C-TV. D-III
(3) A-TI. B-IV. C-I1I, D-I
(4) A-IV, B-1. C-I1. D-III
(A) 1
(B) 2
() 3
(D) 4




& 19§ @& 1 e fifaw

15y

= 1 T I
aferas e I eMg=Tel
ged aqAm II. {gFAG o e
Tes e II1. FAgEfT
wieaT afem IV. 3T

e BT ar Teedt § § WEr 3T #9949 iAo

(1)

A-TIL B-II. C-IV. D-1

(2) A-L B-IL. C-IV, D-III
(3) AL B-IV. C-I11, D-1
(4) A-IV. B-1. C-1I. D-III

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : B

Sl. No.81

QBID:1014056

Given below are two statements :

Statement [ :
Alkbar evolved a set of mutually consistent religious ideas from a multiplicity of
sources in the form of Sulh-i-kul and Tauhid-i-Ilahi.

Statement If :

Man Singh, one of the nine jewels during Akbar's court, was an ardent follower of
Tauhid-i-Ilahi.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1)
(2)
(3)
(4)

(R)
(B)
(©)
(D)

A W N =

Both Statement | and Statement 11 are true
Both Statement I and Statement II are false
Statement [ is true but Statement 11 is false
Statement [ is false but Statement I is true




AT & Fye few A E

FYA I -
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tTfAs farunr §1 w®aaer & |

FA Il

HFay AR & AdlcAl ﬁwmﬁﬁg,a?ﬁa-v-w@%mmﬁﬂﬁﬂﬂl
3Y4Fd FYUA & el #, A QT a0 ket § & W I9FFA ool T
T4 HifST

(1 gt sy 13 nEem &
2) 2t wuer 131 n 3 &

(3) FUA 16T § TWeq HYT 113107 §
) FUA 13T § W AT VT ¢
(A) 1
(B) 2
c) 3
(D) 4

Answer Given by Candidate : A

Sl. No.82

QBID:1014057
Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R.
Assertion A :
Akbar had a very powerful army led by his trusted Mansabdar Man Singh for his
expedition during the war with the Sisodias of Mewar.
Reason R :
It was during Jahangir's reign under the able leadership of Prince Khurram, the
Sisodias of Mewar surrendered.
In the light of the above statements, choose the most appropriate answer from the
options given below

(1) Both A and R are correct and R is the correct explanation of A
2) Both A and R are correct but R is not the correct explanation of A
(3) A is correct but R is not correct

(4) A is not correct but R is correct

(A) 1

(B) 2

(c) 3

(D) 4




A @ Fua € - U AT A% w9 # AT § ar gEr 3as
FROT RF F9 H |
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FRUTR :
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o cATEAYeT fRar ar |

mwﬁmﬁ,mﬁqwﬁaﬁﬁﬁmmﬁmw
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(1 A 3R REET wEr € 3 R, A fr W e &

() A 3T REET T € afa R A Fr wfy sgrear a8 &
(3) AT ¢ dfrT RES A8 &
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(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : C

Sl. No.83
QBID:1014058

Which ruler in Northern India constructed canals from the Yamuna and Sutlej rivers
to 1rrigate waterless tracts in Haryana and Eastern Punjab ?

(1) Muhammad bin Tughlaq
(2) Firoz Shah Tughlaq
(3) Shershah Suri
(4) Shah Jahan
(A) 1
(B) 2
(€c) 3
(D) 4

foFE AT ZERT Ieck RA #, gRAOT 3R q&f 9o A STeRfEd qiF A
R & e aqar AR waerst AR @ agt &1 Ao Rhar s ar 2
(n Higrse, o qarerh

(2) RISt 2 Jarers

(3) ReE gh

(4) UGl

(A) 1

(B) 2
(c) 3

(D) 4
Answer Given by Candidate : C

Sl. No.84




QBID:1014059

The word Sagiva would mean

(1) Goblet
(2) Wine cup
(3) Tumbler
(4) Persian Wheel
(A) 1
(B) 2
(C) 3
(D) 4
Ursg FFIrE HE §
(1) =1
(2) RTE FT 9F
(3) foroma
@ o o
(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.85
QBID:1014060

Abdur Razzak Samarqandi, the fifteenth century ambassador was sent to Southern
India by which Mongol ruler, where he describes wide-eyed the gems he saw
everywhere in the great Southern capital of Vijayanagar ?

(1) Timur
(2) Shahrukh
(3) Halaku
(4) Babur
(A) 1

(B) 2

(©) 3

(D) 4

T HIer arEF GF SfET AT # JEEET el F Tegqd eql T
TATHST F A1 o1, SEa @ g fr mEe TeunEt Temeen # &
e FERUEr F RES F7 a9 Foia frar ar 0

(1) a

(2 AMETT
3) GLIEd
(4) CICES

(A) 1

(B) 2

(c) 3

(D) 4

Answer Given by Candidate : B




Sl. No.86
QBID:1014061

The East India Company's army defeated the Sikhs at the bloody battle of
Chillianwala after the death of Ranjit Singh when Punjab quickly descended into
anarchy. The battle was fought on

(1) 13 January 1849
(2) 21 February 1849
(3) 12 March 1849
(4) 17 April 1849

(A) 1

(B) 2

(c) 3

(D) 4

i g 1 Acg & 9ead, S GSE # 3RTShl 3cde 81 a5 i S
sfear St & ¥ o Riferamarer $ @& s 7 a7 g ar | 3w
ST Fe o2 A A 0

(1) 13 S=Tadr 1849

(2) 21 Hadl 1849

(3) 12 AT 1849

4) 17 3rheT 1849

(A) 1
(B) 2
(c) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.87
QBID:1014062

Who translated the Atharva Veda in Akbar's Court 7

(1) Haji Ibrahim Sirhindi
(2) Nagqib Khan
(3) Mustata Khaliqdad
(4) Shah Muhammad Shahabadi
(A) 1
(B) 2
() 3
(D) 4

3haY & EER A IUdde T 3iedle e fHar ?
(0 Frol SaIfeH Elfgwar

(2) A @

3 TEaw! arfosare

(4) AE AEFAE Mgarsy

(A) 1
(B) 2
(c) 3
(D) 4

Answer Given by Candidate : A




Sl. No.88
QBID:1014063

The first indication of Akbar's interest in translating Indian works was when he asked
to translate the Singhasan Battisi and this was entrusted to

(1) Abdul Qadir Badauni
(2) Shaikh Abul Fazl
(3) Khwaja Hasan Marwi
(4) Nizam-ud-din Ahmad
(A) 1
(B) 2
©) 3
(D) 4

AT FiAat F 36qae # 3Fa F I F 797 TFd 9 g1 59 30
fHema acdidl F Heae § fow g | 98 F7 R g 2

() ¥egd Fifet FErgeAT
(2) TG HIA FAT
(3) CITAT g0 HJEr

“) e 3Eee

(A) 1
(B) 2
() 3
(D) 4

Answer Given by Candidate : Not Answered

Sl. No.89
QBID:1014064

Where was the horse collar first developed ?

(1) Mongolia
(2) Persia
(3) Kabul
4) China
(A) 1
(B) 2
(c) 3
(D) 4
€13 & ITAYET (Flell) I TIYTH Fgl dhiad [haT 34T AT ?
(1 Fomferar
(2) BRH
(3) EIEE)
o
(4) GG
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B
Sl. No.90

QBID:1014065




The practice of variolation or inoculation against Smallpox was first reported from
which place in 1731 7

(1) Kalpi
(2) Bengal
(3) Jaunpur
4) Koel
(A) 1

(B) 2

(c) 3

(D) 4

a¥ 1731 & dus & 3% I a1 AFRI0T, GAUYH Fel IR ar ar
oqr 7

(n Fredr
(2) Faor
(3) ma
) Fed
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : B
Sl. No.91

QBID:1014066

Which is the youngest Dravidian language that established its full identity and
distinctive quality only in the sixteenth and seventeenth centuries 7

(1) Tarmuil

(2) Malayalam
(3) Telugu
(4) Kannada
(A) 1

(B) 2

(©) 3

(D) 4

g5 HleA-dr AdeTcH gfas s § 5o dioedt 3R wEedl aarfegar #&
3O Ut gew 3R ffse aor wnfia BRe 2

(1) dafaer
(2) HoldTord
3
(3) GG
(4) Feols
(A) 1
(B) 2
(c) 3
(D) 4
Answer Given by Candidate : C
Sl. No.92

QBID:1014067




Lilavati — the work from the pen of the learned of India in Arithmetic was translated

by which was of non-religious literature.

(1) Shaikh Mubaraq

(2) Shaikh Abul Fazl

(3) Shaikh Abul Faizi

(4) Abdul Qadir Badauni

(A) 1

(B) 2

(c) 3

(D) 4

HreTEdr - AT F. AT H ARG F e o fr was @
gfea. v IR-urfds wfeea & e sqae o fram)
(1) IE HIH

(2) IG HIA FAA

(3) @ e et

(4) 3egel FIT FEIAT
(A) 1

(B) 2

©) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.93
QBID:1014068

Name the Sufi Saint who appreciated the market reform policy of Alauddin Khilji
and spoke about his philanthropic motives of the Sultan.

(1 Shaikh Farid
(2) Nizamuddin Auliya
(3) Mahmud Chirag of Delhi
(4) Bahauddin Zakariya
(A) 1
(B) 2
() 3
(D) 4

39 g A H A qas, Sa renEde @esh & aoR gur Afa &
sRiEr & A AR Feoed F AGHFR AW F Iee@ Brar ar 2

(1 g wig

(2) fAsmEe sitferar
G e ¥ Ewg R
(4) FET3ET AT




Answer Given by Candidate : D

Sl. No.94
QBID:1014069

When Jalal-ud-din Khilji ascended the throne of Delhi Sultanate, who was the
Governor of Kara Manikpur who revolted against the Sultan ?

(1) Alauddin Khilji
(2) Malik Chajju
(3) Akat Khan
(4) Mubaragq Khilji
(A) 1
(B) 2
(€c) 3
(D) 4

STeTelEle [@es & ool Hodad &I I R 460 FAT F3T AMAHI H
MR i T, T oo & faeg Eee frar ar 2

(1) HASE @ersit

(2) afes aos]

(3) 3hd @I

(4) AR et

(A) 1
(B) 2
c) 3

(D) 4
Answer Given by Candidate : A

Sl. No.95
QBID:1014070

According to the calculations by Angus Maddison in a recent major historical survey
of the world economy, the gross domestic product of India in 1700 amounted to

(1 22.8%
(2) 23.5%
(3) 24.5%
(4 25.6 %
(A) 1
(B) 2
(c) 3
(D) 4

fava srdegeawar & gra & wH@ e adeor # @ Affe aarr &
TS FIUET & AR, 1700 H AR T Hehel e 3cU1G AT

(1) 228 %
) 235 %
3) 245 %
(4) 25.6 %

(A) 1

(B) 2

) 3

(D) 4

Answer Given by Candidate : Not Answered

Sl. No.96




QBID:1014071

Muslim chroniclers describe a large beast rhinoceros with different names. Who was
the earliest among them 7

(1) Ibn Battuta

(2) Al-Biruni

(3) Bayazid Bayat
(4) Muhammad Basir
(A) 1

(B) 2

(c) 3

(D) 4

Aiterw sfagar & 73 fere st 71 B at & 9ol frar ¢
Ha¥ 9gel JUId A JTe FiF T 0

(1) geat aqdm

(2) HA-AFAT

(3) JUTSAE JATT

@) sgewg @R

(A) 1

(B) 2
(c) 3

(D) 4
Answer Given by Candidate : Not Answered

Sl. No.97
QBID:1014072

Inam land refers to which of the following ?

(1) Land grant to peasants
(2) Land grant to nobles
(3) Land grant to religious institutions
4) Land grant to soldiers
(A) 1
(B) 2
(Cc) 3
(D) 4

sare aiff Rrafaf@a & @ frad weffla 2 2
) s

(2) TEET F A e

3) afds deaEt # A e

) #Ft F qfA e

(A) 1

(B) 2
©) 3

(D) 4
Answer Given by Candidate : C

Sl. No.98
QBID:1014073




The city of Jaunpur was founded in the memory of

(1) Balban
(2) Alauddin Khilji
(3) Muhammad Tughlag
(4) Ferozshah Tughlaq
(A) 1
(B) 2
() 3
(D) 4

SR e Fr T GREdr wfa & Froawdr o
(1) T

(2) Fomsdia &=t

(3) ArgFHe JITeH

(4) fRIsTemg oo

(A)
(B)
(©)
(D) 4

Answer Given by Candidate : D

W N =

Sl. No.99
QBID:1014074

Which Sultan prohibited women from worshipping at the graves of the Saints 7

(1) Balban
(2) Alauddin Khilji
(3) Muhammad bin Tughlaq
4) Firoz Shah Tughlaq
(A) 1
(B) 2
(c) 3
(D) 4

e goare 7 Afgensit FF H@at i AR | G0 == @ gfoafaa G aw
(1) ECECH

(2) Her3dia Qe

(3) HIgFAS ﬁﬂgdld-—'h

4) fbﬁnmnggm?ﬁ

(A)
(B)
(©)
(D) 4

Answer Given by Candidate : A

W N =

Sl. No.100
QBID:1014075




Which Sultan of Delhi got the Qutub Minar repaired, cleaned the derelict Hauz Khas
and erected on its bank a Madarsah ?

(1) Iltumish
(2) Alauddin Khilji
(3) Firoz Tughlaq
(4) Sikandar Lodi
(A) 1
(B) 2
(C) 3
(D) 4

ool & e geard & Fae Mar H weEAa w0 IR fFalza g aw
FT ATH FIAT TUT 3HS AT FAGIH T FUGAT & 2

(1) Fodqdtae

(2) Fersdi &eralt

(3) ﬁ?ﬂ;{@ﬂw

(4) fasex @

1
(B) 2
3

(D) 4
Answer Given by Candidate : C






